S
~
Qv ~
&0 Q=
T g <3 5 ls
= = hVa_b.O @2 o =,
o ®© .wmw & AR
> g g PR Q a
c =1 o595 0
o .m W = .Ia..w72 - v
S = @ @ wﬂwﬂ = N
= Q 8 5 o Lz a S ~
§_8 % g 8 HEr 3 153
X838 T 2 o o 028 ° Q 2212 o
828 §3 5 5 ™ 2 2 e
88 3% S 2 & = 5 8 200w’
- 2 2775 & 3 e S <z 8 £S 25
WL WwWE G o c © & hE D = N~ o n =) N Z N [Z N
ST T 8RND 8 & ®» ® 3% %= & S ® N «© O |z £
288835 g 2 f fegEs o °R2 | Ow§ a a |z =
2858°% E & 2 2 82 s8Pgs o8& | meN s |55
>c € o i o S 7 > w2 = o) =
I IR n6E | 258 |z S| |
2 a G = g 9 N 5= 55 ©5 [e =01 =N © 9] »Z 2
Sxx2883 5 § = = 899328 3¢ °9z | aZa = ) S| 5
g 15 g 2 c £ 3P DI oz 2 g
IR L L o%e | S8 | ¢ | 2| | ¢ 51 s
S ®32 NN 28 & 2o L N2 Ng 83 o3 =T = %l & N T
Stzfz 32 g ° g 22 25 25 =S S<4 = HE-EEE: 3=
2Z2ZzRNeEs @ 2 S 5 aa%aemw N|2 053 < ol =
R AR g2 a 2 wwuw..mw.m >So R z| E 2 >
Wmmzww,_mwmmmmmm%& - & el 5| x| E
5 533955 83 8% % 2 %s 38 88 «. O ¢ s E[E| =57
£ 58T s EE g9 o £ & 5N EX &« 5 s a8 o |58 o
2 555583 54 8 2 g & g &% 2
- o < o A N £ m o c B 5 ® m
© . s 3 ° s o 2 ¢l £ 8 |85es
2 EEEEEERE I s = |8 i s S| 8| £ B2z
) ——0+300 1 1 _ 12y © W W IS z el o
< R I
- B
-
NN \
& BNA\V D AN o 7
& N o)
“« oz 4, / &
e 0\.v AN
- ¥ 25 AN \ N 20
“< / /
: -
hS & //
N N
x @ AN
@ Dy / | N
o N AN Mo,
D , &
« ~ / | N©o ¢ \QL
() N
4 o / P @W/
“ o 7 0% 52 MMV/
| 06, ,W/
[ - . ol NN
— “ | am/ rac i
a ! / +533 \.v\sm &
> S N NN\,
075 AN
/D\
& o
S\ AW
= QMU N\
SN%%OW@ //
4 658 XX A
/ N //
// \QN%N// /
X 6.55 /
| m2 . O o
\\\\\\ 6 | g // /
g 97 AN N,
i /// N\ £
S0 AN .
« / N .
/ * - N\ ;o/mm
% ) - N %,
AN
N AN //
7 8 : W\. AN //
Zjazd ind. (L)0+4911.08 i P 9 « / ///
= 9,3 AN AN
5i \ //
AN
/ me // / b
ho ‘ N
— I //i AN
| g ! . AN
08, > ! AN
\QN}W | //
P - 107 3 // AN
|
_
| /
N Zjazd ind. (P)0+462.57 E
\ N E——cwe) B
m2
07 56
[} 70655 ~
o 83
02 5 Zjazd in .A_uvotmw:w P
s/
o~ vbv - -~ 7
| o O v ¢
N
- AN
4 Mﬂu \
S
—— 7
L — 07 59 - M»me *
7 o )
Zjazd ind. (L)0+436.47 5 = - 072
LQN%\ | 2
[} [o¥a) 3 ﬁk
D)
o -
>
X\O /4/0
O
6
-
TN_.NNQ ind. (P)0+412.86
<708 o ) I
i 0 B )
2.385
{5 0555
Zjazd ind. (L)0+406.31 L _;A«
<708 o ﬁ 0q @) 107 4
- = - — = 5 | Zjazd ind. (L)0¥399.11-55=: ®
ad! . b
3 ] -
N =
nt = Zjazd ind. (P)0+390.63 -
N L7
5 i [T
Lk vonsz (1]
..... ind| (L)0+383.16——— 108
'ﬁ AS//QN\L T
3 — A e :
_ I V. ks16G
\%ﬁa.lxﬁ?dn 26—grzo 2L 20—
s & 108, ¢ 4 .
7 Yy i 2 mo
w
ﬁw1__\ \\3 ’
I L
<707 4 080 1
20 Zjazd ind. Am\waw._.w@h.m
e o
w \4:\ h j T T T [ J
22 SR =
\Q,w.m%x\ )
g a4 T —
¢
] P * o7
q%N_mua ind.(L)0+349.917=7 _ m
e e e e 9%
:‘ o ¢ o g m
N % 105 4
. | " PRI %
26 ¢ %
107 0> &
05 =750
77 b .m@mm B \W%WI( 0535 -
motT 0%, ' 102 5 0655 o
? i 16706 63
o0 d
g Slcaci It
p
07 43
<
B T— /V_
- el
L
q
g
32 b
707 N
D)
)
ob’
2 N
» e e 1
jazd ind. (L)0+297.3" T ) o e e o - ,
Zjazd ind. (L) fw N mm_ N jazd ind-(P)0+293.64 |
- © g | £ o 105 55 |
A L Tend oo .
_
_AT\ ch.bet. o |
_ © mn L
J4B ¢ 66
Q| B 3
— 7/ﬂj.®m®/.\
m< wob =% 4 3 .
& ¢ ©
JJo 3
RS :
)
7 S@V@
9 " mg
39 > ¢ w
e :
6.6 o> 3
o ¢ .
. ¢
3
b
o T
Zjazd ind. (P)0+255 42
JV_I MQDQM% \
N 4.94 )
N e
cHVoUFY
I L
43
3
o
N
N
4
8 - 105 6 - ]
S 122
o 12,4
Zjazd|ind/(2)0$208.92 i
mp )
105 g3 \
\Q,M.m,% _ o
05830)) — - — - == =
P ]
Zjazd ifd.(L)0+190.81 Z —
] O
Iny,Nal f R
m3 © T
u\Qm.Q
54,5 B 52
N ﬂv MN ‘
o ©
o =
<y =
0 _ﬂ“ -
-, 0059 \wa- © 8
& Zjazd ind. (P)0+161.3 “
©
= - /05 3
8 LW/E & e |
Al &l o
C; , b-gn26-
\V\VNO |_ l_ \Q,W}W,W
jazd ind.|(L)0+145.6 ] | 4 o 103, o2
=705 5 | 4
.7 58 | LENQ ind. (P)0+139.12
57 |
\Qk.%: w45
D 022 4
Zjazd ind. (L)0+129.86 1] 04, >
] & v
1/ , R
Zjazd|ind. (L)0+123.0 'I._
|
sz J ind. (P)0+115.88
g < S77azd ind. (
.lz\\; a 613
R Vo4
o T |
=
g Zjazd ind. (L)01110.97
59
_ |
|
@l
, |
Zjazd ind. (L)0+098.11 | ]
|
pon \Lw.w 4
grozo 0 g& k 64
— \,L . ms 4
62 J L Ziazdind. (P) ;
| 4_ R
o S
. o ]2 —
7 , b K — ks6130] 075
_ i 64,9
¢ | W@
= ,
= 7 ! 64, >
. N
, 5 , m2 R
03 3 w,w_ -
7 “
,Mmf )
63 mJ 7 , _ o (S-mio46-] mz 64,1, R
7 , 645
| 5
mn || |
| ') 707
2 - | e - 07 4 ~
2.7 _
T | ‘ M\/,W
(o) \w @ _
Zjazd ind:{L)0+045.78
o2 J |
,
015
/ % ,@.\ﬁ;
-
[, |
JI08%
/ 65,7 7 ,
N ,
/ 5 7 |
‘N
(o]
i
- 707 7 7 !
,
\ | 1
00,6 [
/ 99 7 mo
\\ o .
w
. | 5
W
A§X A~ 65,3 7 ch
42 :
\ 4
e
42, 100, 54
99 09 74
y 10072 4/ /—/7
== 00
Lb O.m#
“ays 100.57
) 100-
8
- % \200, , 00.6
— 36. g \ \_\\




